Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

17EC42

Time: E hrs.

Note: Answer any FIVE full questiqns; c

&T P
1 a. Check for periodicity and t;md its time period for the signal x(n) = cosg-n - CcOs %n .
: Ay‘& 4 ‘m‘iﬁfi» -
w ' . ' (07 Marks)
er for the signal x(t) given in'Fig.Q1(b).
axfp. ¢

&
b. Calculate energy or pow

u
@

(07 Marks)
(06 Marks)
2
R4 i (3 (08 Marks)
en that signal x(ﬂ)j—‘-"ﬁ’?n[ Sketch the signals x(2n — 3) and x(n + 4).
y 1 (06 Marks)
c. Check for Link\earylﬂ‘ and Time invariance for the given system equation:
y(t) = x(t) + 37 (06 Marks)
Module-2
3 a. Given that LN
x(t)=e™ for Oto T
h(t)=1 for 2T
Calculate y(t) =x(t)* h(t) (10 Marks)
b. Prove the following properties of convolution in continuous domain:
(i) Associative
" (10 Marks)

& .

(i1) Cq;%ﬁi@utative
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OR ];» w
Given that x(t) =3U(t)-3U(t—4), h(t)= 25(t 1;+ §(t -3). Calculate y(t) = x(t) *h(t)

using properties. (10 Marks)

Given that R,
x(n)=a" 2<n<6 for0<a<l
h(n)=1 0<n<4

Find y(n) = x(u) * h(n) by proper graphs

(10 Marks)

s

Find step response for the glven
(i) ht)=e™U(t-2) (

Gi) h(n)= (1j Ut~ (V

(iii) h@)=tU® (09 Marks)
Derlve the formula acalculate step response m terms of 1mpu1se response. (05 Marks)
. (06 Marks)

for the. followmg %
(1) h(t)=¢'U(t-2) CMRIT LIBRARY

(i) h(n)=a"U(n+3) 0<a<1 7\, BANGALORE.500087g¢ny, )
Find FS for the signal x(t) in Fi g.Q6(b). Also calculate magnltude and. Phase angle.
“““ NE1C

XM

(09 Marks)
(05 Marks)
F 1nd DTFT for the Y@llowmg signal using approprlate properties:
(i) x(n)=ec™" (3)"U(n)
(i) x(n) - 7% U(n -1) ( (10 Marks)
Find IFT for the spectrum X(Jm)’w - \2 = JO? : (10 Marks)
y (jo)* +3(jw) +2
,,,,,,,,,, OR

Find IDTFT for the spectrum using convolution property

X(e") = ——= (10 Marks)

(1£ae.”
Find FT of the s1gnal x(t) = ¢™ U(t) and calculate magnitude and phase angle. (10 Marks)

20f3




17EC42

Module-5

9 a. Give all ROC properties of Z-transform. (05 Marks)
b. Find z-transform for the signal and plot ROC x(nﬁ&(n -2)(3)"*U(n-2). (06 Marks)

€. Find Inverse Z-transform using partial fraction fne‘ghod:

l—ztypa® K3
X(2)=
(1 - —;—z‘l )(l —2z7H(1-z")

for the ROC 1 < [z| <2 4 (09 Marks)

10 a. Find transfer function and 1mpiﬁse response for the causal system for the given input and
output signals: i ,

U(n) (10 Marks)

) ) 1
=3(-1)"U(n) +[§)

o

b. Find z—transforqg&?hdﬁ\lot ROC with poles and zeros for the given signal
x(n) = (2)"U(n)+(-3)"U(-n) O

(10 Marks)
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